
Name ___________________________________     Quiz:  Thursday 3/7   Friday  3/8 
ALG2RCC     Regents Review #8 
 

This is a study tool for the next regents review quiz. 

 

1) Solve the equation 𝑥2 − 4𝑥 + 9 = 0  . Express the answer in 𝑎 + 𝑏𝑖 form. 

 

 

2) Victoria purchased a house in 2010 for $90,000 and sold it in 2016 for $112,000. 

Assuming exponential growth, approximate the annual growth rate, to the nearest 

hundredth of a percent. 

   
 

3) Which function shown below has the smaller average rate of change on the interval  
[-1, 1]. Justify your answer. 
 

 
 

4) State the formula for the 𝑛𝑡ℎ term of the sequence 3, −6, 12, −24, 48 …  

 
5)  

 

 

 

 

 

 

Answers: 

1) 52 i       2) 3.71%     3)   𝑓(𝑥) 𝑠𝑖𝑛𝑐𝑒 ∆𝑓(𝑥) =
7

24
 𝑎𝑛𝑑 ∆𝑔(𝑥) = 4   

4)  𝑎𝑛 = 3(−2)𝑛−1       5) 
𝑦7

2𝑥2    


